1235
Կրճատե՛ք կոտորոկները
=
72    2            16     2
36    2            8       2
18    2            4       2
9      3            2       2
3      3            1
1

(72;16)=2x2x2=8
=
125     5              65    5
25       5             13    13
5         5              1
1
(125;65)=5

=
21      3           81        3
7        7           27        3
1                     9          3 
                       3          3
                       1
(21;81)=3

=

66       2             22        2
33     11             11        11
3        3               1
1
(66;22)=11

=
90     2            35     5
45     3            7       7
15     3            1
5       5
1
(90;35)=5

=
169     13          39     13
13       13          3        3
1                        1
(169;39)=13

=
78     2             64      2
39     3             32      2
13     13           16      2
1                       8        2
                         4        2
                         2        2
                         1
(78;64)=2

=
108      2             69       3
54        2             23       23
27        3             1
9          3
3          3
1
(108;69)=3
=
225     3             30      3
75       3             10      2
25       5             5        5
5         5             1
1
(225;30)=3x5=5








